02334 HHI KB

7= miiEA

M
4N,

I
THZBEENAE,
TR ARNEBEEILLE,

BT
M = RimERFE 81 R 1R4¢
N = B K184 2% DIN 912

1) kL2 ER
2) iR f
3) NARE

© norelem www.norelem.com



02334 % X iR

ap

F1

F2

H2

H1

L3 L2

Mg KA[E
HEHH  HEHED

F14N F24 N

02334-06029 M6x16 M6
02334-08037 22 16 M8x15 47137120 | 21,1 |50|16 10|20 M8x20 M8 | 6000 14 0 7
02334-12047 32 25| M12x20 |57 |47 |27 | 28,3 |75|25|15|30| M12x30 M12 | 9000 22 1 1"

© norelem www.norelem.com



